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QUESTION 1

Given: 

1.

 try { // Call Web service Operation 

2.

 org.me.calculator.client.CalculatorWS port = 

3.

 service.getCalculatorWSPort(); 

4.

 // TODO initialize WS operation arguments here 

5.

 int i = 3; 

6.

 int j = 4; 

7.

 // TODO process result here 

8.

 int result = port.add(i, j); 

9.

 out.println("

Result: " + result); 

10. 

11.

 } catch (Exception ex) { 

12.

 out.println("

Exception: " + ex); 

13.
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 } 

Assume Reliable Messaging is used and the code is correct except for what is missing at line 10. 

Which code fragment must be placed at line 10? 

A. Close the port object with ((Closeable)port).close(); after testing result is positive. 

B. Close the port with port.close(); 

C. Closing the port object is optional, but port.close(); will work. 

D. Close the port object with ((Closeable)port).close(); 

Correct Answer: D 

 

QUESTION 2

A developer needs to implement stateful Web services for their new application by maintaining a session with the client
application. Which two technologies should the developer use to implement Web services? (Choose two.) 

A. EJB Endpoint 

B. Servlet Endpoint 

C. JSON 

D. REST 

E. SOAP 

F. JAXP 

Correct Answer: BE 

 

QUESTION 3

A developer must describe a message that contains multiple parts using non-primitive data types. Which two code
fragments produce equivalent composite message structure definitions? (Choose two.) 

A. . .  

B. . .  

C. .  

D. .  

Correct Answer: BD 

 

QUESTION 4
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Which two statements are true about JAX-WS support for data bindings? (Choose two.) 

A. Data binding is performed with only generated classes to reduce errors and hide complexity. 

B. JAXB 2.0 is preferred. 

C. Inline binding declarations with XML Schema are NOT supported for JAXB 2.0. 

D. SAAJ 1.3 is supported for data binding with SOAP. 

E. JAX-RPC data binding is recommended for cross-platform interoperability. 

Correct Answer: BD 

 

QUESTION 5

A developer created a Web service client that sends requests to the company\\'s inventory service. The quality
assurance team reports a problem during testing. The client does not work in some cases and the QA team reports that
the client is sending malformed SOAP messages. The software is returned to the developer for resolution. 

What is the result? 

A. One or more class cast exceptions are returned in a SOAP message. 

B. A SOAP fault that surfaces as a HTTPException because SOAP is serializable. 

C. A SOAP fault surfaces as a SOAPFaultException. 

D. A generic exception results because Java details are not to be mingled with SOAP. 

Correct Answer: C 
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